
 

 

 
 

Complete each grid using the numbers 1 to 9. 

Each number can only be used once! 

 

 

 

 

 

 + 3 x  = 25 

x  +  +  

 +  -  = 10 

-  +  -  

9 x  +  = 16 

= 7  = 10  = 2  

 

CLUE: Top right hand 

box – which number can 

multiply to make 25? 
6 x  ÷  = 8 

÷  -  x  

 + 1 +  = 11 

x  +  -  

 +  ÷  = 2 

= 15  = 12  = 17  

 

CLUE: Bottom left 

hand box – which 

numbers could 

multiply to make 15? 

Cross off the numbers as you go: 

1   2   3   4   5   6   7   8   9 

Cross off the numbers as you go: 

1   2   3   4   5   6   7   8   9 



 

 

  

 x  ÷ 6 = 3 

÷  x  +  

 +  -  = 1 

+  +  x  

 ÷  x  = 2 

= 11  = 14  = 13  

 

CLUE: Bottom right 

hand box – which is the 

only number that can 

multiply to make 13? 

Cross off the numbers as you go: 

1   2   3   4   5   6   7   8   9 

 x  +  = 11 

+  ÷  +  

 -  x  = 8 

x  +  ÷  

 +  ÷ 5 = 3 

= 24  = 11  = 3  

 

CLUE: 15 ÷3 = 5 

2 pairs of numbers add to 

make 15. Which of those 

4 number can go in the 

right hand middle box? 

Cross off the numbers as you go: 

1   2   3   4   5   6   7   8   9 



 

 

 

 
2 + 3 x 5 = 25 

x  +  +  

8 + 6 - 4 = 10 

-  +  -  

9 x 1 + 7 = 16 

= 7  = 10  = 2  

 

6 x 4 ÷ 3 = 8 

÷  -  x  

2 + 1 + 8 = 11 

x  +  -  

5 + 9 ÷ 7 = 2 

= 15  = 12  = 17  

 

9 x 2 ÷ 6 = 3 

÷  x  +  

3 + 5 - 7 = 1 

+  +  x  

8 ÷ 4 x 1 = 2 

= 11  = 14  = 13  

 

1 x 4 + 7 = 11 

+  ÷  +  

3 - 2 x 8 = 8 

x  +  ÷  

6 + 9 ÷ 5 = 3 

= 24  = 11  = 3  

 


